GRUPA A PIEKI

STOL = DATA GRY NR NAZWISKO IMIE/KLUB B W : P MVIEISCI
1 15-12 10:00 |2-5 Czech Michat 0:3 1128 3.1 91111 11 3:0 1111 |11 3: 0 111111 6 9 : 4119 : 73 2
2 15-12 10:00 |3-4 LZS Victoria Chrdscice 11 (1111 111 3| 5| 4 1 0 2 4 1(9 2,25 1,63013699
1 15-12 10:15 |1-4 Stabori Szymon 3:0 11(11(11)1 0| O 3 0 11(11)11 3.0 1111 )11 3 : 0 111111 3 12 ¢ 0]132 : 36 1
2 15-12 10:15 |[3-5 STS Gmina Strzelce Opolskie 112(8(0]| 0 4121 4 0 0|0 6 |3]|6 0 3,66666667
1 15-12 10:30 |1-3 Malik Pawet 1: 3 11({3| 5 0 0: 3 412|400 1:0 11|11 )11 1.3 8 |11|5| 4 2 13 ¢ 9] 94 : 118 a
2 15-12 10:30 |2-4 UKS Cisek 9 |11(11|11| O 11|11|11({ 0| O 0 0 1 11 9 (11f11 1,44444410,79661017
1 15-12 10:45 |1-2 Rajnert Maciej 0: 3 1|{0|2|0]|0 0 3 o|0|0]|0O]|O 0 : 4 ofo|1|0]0 0 3 4133 0 0 : 20| 14 : 132 5
2 15-12 10:45 |4-5 STS Gmina Strzelce Opolskie 11(11|11|1 0| O 11|11|11({ 0| O 1111|111 0 | O 111111 0 0,10606061
1 15-12 11:00 |1-5 Piechaczek Dominik 0: 3 411(9|0]|0 0: 3 63|6[0]|O0 31 11|19 (11f(11|0 3 0 11| 11|11/ 0| O 4 6 : 7] 71 : 94 3
2 15-12 11:00 |2-3 UKS Cisek 11(11|11| 0| O 11|11|11({ 0| O 8 (11| 5| 4]0 4 3 310]0 0,857143] 0,75531915
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3 15-12 10:00 |2-5 Mandok Marcel 0: 3 1133 3.0 111111 : 3.0 111|121 4 6 : 3|73 : 49 2
4 15-12 10:00 |3-4 STS Gmina Strzelce Opolskie 111111 3(3]| 4 3121 2 1,48979592
3 15-12 10:15 |1-4 Lepich David ‘ 3:0 11(11(11| 0| O 3:0 111111 : 3: 0 11 (11|11 6 9 : 0] 99 : 27 1
4 15-12 10:15 |3-5 LZS Zywocice 113 0|0 1123 6 3|5 0 3,66666667
3 15-12 10:30 |1-3 Stobierski Jan 0: 3 313 0|0 0: 3 1{2(3]|]0f0 3 ) 11| 10|12f11|11 2 3 : 8|71 :113 3
4 15-12 10:30 |2-4 STS Gmina Strzelce Opolskie 111111 0| O 11|11{11| 0| 0 7 |12]10|13]| 5 0,375 ]0,62831858

15-12 10:45 |1-2 7 |Kroll Sandra 0: 0 0O|0[O0|O0]|O 0:0 o|lo0|OfO0]|O 0:0 0|0[O0]|]O0]|O : 0 0 : 00 : 0

4 15-12 10:45 |45 |B4 UKS Cisek 0|0 0|0 0O|0|JOfO]O 0O[0]O0]oO 0 0
3 15-12 11:00 |1-5 Jecek Paulina 0: 3 3|2 [ 0: 3 6|3[5|0]|0 3 .3 12(10| 13| 5 0:0 o|o0ojJojoOfoO 0 2 : 9] 67 :121 4
4 15-12 11:00 |2-3 STS Gmina Strzelce Opolskie 11(11|11| 0| O 11|11|11( 0| O 11|10f 12| 11|11 0 0O(0|0]O 0,222222]0,55371901




